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Total ( 600 Marks )
I- VOCABULARY: (90 Marks)
A) From a,b,c and d choose the correct answer: (5 x9=45 Marks)
I We will be facing a much more experienced .......................In tomorrow's match.
a- dietician b- opponent c- neurologist ~ d- expressionist
2 Certainly, you will not agree with me but I think I ... i tODE well-paid.
a- finance b- simulate c- navigate : d- deserve
3 The successful candidate for this position shopld have strong ......................... skills.
a- Interpersonal b- wireless c- exotic d- idle
4  The team have achieved the........................ in spite of the difficulties they faced.
a- venues ~ b- supplements C- seminars  d- objectives
5 Ifeltquite .................. when the _donor informed me that I had to have an operation.
a- digestive - b- modernistic c- apprehensive d- atmospheric

(5 x9=45 Marks)

virtue / appealed / compete /substantial / rival/ richly

6. We are a small company and we cannot ........................... with other companies.

7. Manchester United beét their ... team 3 — 1 and qualified for the final.
8. Teaching childrenthe ....................... of discipline is one of the duties of education.
9. The movie was a success because it ............................... to adults as well as children.

10. The room was .............cccooeennn. decorated with several original paintings on the walls.
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II- GRAMMAR: ( 60 Marks )

A) From a, b, ¢ and d choose the correct answer: ( 5x6=30 Marks)
11-The Kuwaiti football team took part ................the World Cup Competition in 1982.
a-on b - at
c- in d -for
12- My colleague is very hardworking ,he won ...................... gold medals.
a - much b - any
c - lots of d -no
13- Borj Al-Arab , inthe UAE ,isoneof .......................... hotels in the world.
a- the most luxurious b -luxurious
c- more luxurious d -most luxurious
14-.........................] was chatting with my neighbour , my mobile rang.
a -Because ' : b -While
c-Yet d -For
15- Do you know ... ......... the writer of the story "Three Men in a Boat" 1s 7
a- What : b- Why
c- When - ' ' d- Who
B)Correct the underlined mistakes in the following sentences: (4X 7%= 30 Marks )
. (AP, N B)
16- The exam results given out two days ago, don't they?
3 . gBE B v
) (B)
17- The faster you walk, the soon you reaches your destination.
RN S b,

I1I. LANGUAGE FUNCTIONS (70 Marks )

A)Write what you would say in the following situations: (7x10 =70 Marks )

18. Your classmate is against learning different foreign languages.
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20. Your brother feels afraid and embarrassed when giving a talk in front of the class.
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IV. SET BOOK QUESTIONS: (60 Marks )

“A) Set Book Topics:

In meaningful sentences, answer only THREK of the following questions:
( 3x15=45 Marks )

25 .In your opinion, how should a good eatery be?

26. Computer gaﬁiés. have ai;*negative effect on children’s social behaviour. Are you for or

against this? Why?/ Why not?

27. It is beneficial and enjoyable to watch big sporting cvents, like the Olympics. Explain.
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28. Why do you think it is important to protect wild life?

B) Literature time

In meaningful sentences, answer only ONE of the following questions: .
(1x15= 15 Marks)

29. How can you avoid the feeling of being bored?

30. In your opinion, what should you do to have a pleasant trip?

- V- Writing (120 M arks)

"Health of body and mind is a great blessing"

In 12 sentences ( 140 words ) , plan and write a report of two paragraphs about Healthy
eating discussing the following points :

e How home-made meals keep our bodies healthy and fit.
e Kinds of healthy food that you prefer eating, and why.
¢ Islam's pieces of advice on healthy eating habits.
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Writing plan (12 Marks)
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Rubric ‘
Spelling Handwriting, spacing
ideas, paragraphing & | outlining & & Total

number of sentences Structure punctuation
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VI- READING COMPREHENSION: (160 Marks )

Read the following passage then answer the questions below:

How many things can you see in the night sky? A lot! On a clear night you might see the
Moon, some planets, and thousands of sparkling stars. You can see even more with a telescope.
You might see stars where before you only saw dark space. You might see that many stars look
larger than others. You might see that some stars that look white are really red or blue. With
bigger and bigger telescopes you can see more and more objects in the sky. And you can see
them in more and more detail. 5

But scientists believe there are some things in the sky that we will never see. We won't
see them with the biggest telescope in the world, on the clearest night of the year. That's
because they're invisible. They're the mysterious unknown dead stars called black holes.

You might find it hard to imagine that stars dxe After all, our Sun is a star. Year after year
we see it up in the sky, burning brightly, giving us heat and light. The Sun certainly doesn't
seem to be getting old or weak. But stars do burn out and die after billions of years.

As a star's gases burn, they give off light and heat. But when the gas runs out, the star
stops burning and begins to die. As the star cools, the outer layers of the star pull in toward the
center. The star squashes into a s__m_aller and smaller ball. If the star was very small, the star ends
up as a cold, dark ball called a black dwarf. If the star was very big, it keeps squashing inward
until it's packed together tighter than anything in the universe.

Imagine if the Earth were crushed until it was the size of a tiny marble. That's how
tightly this dead star, a black hole, is packed. What pulls the star in toward its center with such
black hole is so tightly packed that its gravity sucks in everything — even light. The light from
a black hole can never come back to your eyes. That's why you see nothing but blackness. So
the next time you stare up at the night sky, remember: there's more in the sky than meets the
eye! Spread in the silent darkness are black holes — the great mystery of space.

A) Choose the correct answer from a, b, ¢ _and d: (6x 15= 90 Marks )

31. The best title for the passage would be ...
a. The force of gravity
b. Uses of telescopes
¢. Dead stars
d. Great scientists
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32. The underlined word “mysterious ” in the 2™ paragraph is closest in meaning to ... ...
a. familiar
b. strange

¢. clear
d. common

33. The pronoun “them” in the 1% paragraph refersto .......................
a. stars
b. telescopes
c. objects
d. planets

34. The main idea of the last paragraphis ............................
a. How a dead star is packed
b. How stars are scattered in the sky
c¢. What makes the sky clear at night
d. What makes a star burn =~

35. The opposite of the underlined word tiny in the 5" paragraphis ..............
a. bright
b. clumsy ; e
c. small
d. huge

36. Dead stars can't be seen by telescopes because .........................
a. they are scattered in the sky
b. they are invisible
c. of the gravity

d. thousands of stars are sparkling

B) With reference to the passage, answer the following questions: (3x10 =30 Marks )

37. Why can we see only blackness in the sky?
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C) Summary Making (4X10=40 Marks )

In not less than four sentences, summarize the 4™ paragraph in an answer to the following
question :
"How does a star die?"

VII- Translation ( 40 Marks )

A) With reference to the passage ,translate the following sentences into good Arabic :
( 30 Marks)

You might find it hard to imagine that stars die. After all, our Sun is a star. Year after year
we see it up in the sky, burning brightly, giving us heat and light. The Sun certainly doesn't

seem to be getting old or weak. But stars do burn out and die after billions of years.

B)Translate the following into good English: ( 10 Marks)
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End Of Exam



